Ratio to ATLAS

1/0 o/ dp|dm™

=
<
[N

[HEN
o
R

1073

1074

[EEY

0.5

13000 GeV pp ff
[ - | [ T T 1 ™ T T —T T
N' (ATLAS dileptonic ttbar)
— m ATLAS —
~ --&- Pythia 6.428 391 .
- < Pythia 6.428 393 B
— --®-- Pythia 6.428 394 a
. ---¥v-- Pythia 6.428 395 |
: i' - "'-.-,._ - - :
B TRy i
o -‘\.‘*a -
— - ;i_;.. - N
\“"-':_.Q)
— "*;i _
j_ — ] | ! | ! | | ! | ==
B R R UTNY LR atal SRR T T - U B
[ | LSRR Libibal EAEREY TRy - & 1 E ]
| . L , L o
0 1 >

Lepton htimes m"™

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


